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S LHEHHK S (ot=1) (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
ot == 1t 30,097,000 21,682,000 8,415,000
= 27,097,000
Al 3,000,000
HEes 30,097,000 21,682,000 8,415,000
= 27,097,000
Al 3,000,000
HEHHXI= (ot 2=1) 30,097,000 21,682,000 8,415,000
= 27,097,000
Al 3,000,000
St ESE3H XN &3 3,000,000 5,129,000 A2,129,000
701 JIEIS HSHES 3,000,000 5,129,000 N2,129,000
03 ZI)ILELUIHN=2ANES 3,000,000 5,129,000 A2,129,000
Odle=Z MY EEIH N MNEZ2
2,700,000,000& 14 2,700,000
OFUEAHMA HH T MEZS
300,000, 000& * 14 300,000
2005 BTLGIE=Z2HEHIANY AEX=22 3,683,000 3,855,000 A 172,000
= 3,683,000
701 JIEIS HEEHE2 3,683,000 3,855,000 A 172,000
= 3,683,000
03 BIESESLEIAHN=2TES 3,683,000 3,855,000 A 172,000
02005 BTL ot HAEHIANY HFEXNS=2
3,683,000,000& 14! 3,683,000
= 3,683,000
2006 BTLot+=2){HHIAIY HEX22 4,740,000 4,740,000 0
= 4,740,000
701 JIEIS HSHEZ2 4,740,000 4,740,000 0
= 4,740,000
03 BIIESESEIHN=2HTES 4,740,000 4,740,000 0
02006 BTLGt=Z2 HEHIANYE HE2XNZ22
4,740,000, 000 14l 4,740,000
= 4,740,000
20093 BTLot=2 1 EHIAIY E2X22 2,476,000 2,476,000 0
= 2,476,000
701 JIEIS HSHEZ 2,476,000 2,476,000 0
= 2,476,000
03 BIIEELEIAHANSETES 2,476,000 2,476,000 0
02009 BTL ot HEHIANY HEE2EXNS=2
2,476,000,000& 14! 2,476,000
= 2,476,000
MS XIRXEHEAIE EXAY 1,877,000 1,878,000 A 1,000
= 1,877,000
701 JIEIS HSHEZ 1,877,000 1,878,000 A 1,000
= 1,877,000
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S LHEHHK S (ot=1) (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
03 BIIEELEIAHAN=2ETES 1,877,000 1,878,000 A 1,000
OMsS MNEBEXR(ZIRFHMEAE) &XALY
1,877,000,000& =14 1,877,000
= 1,877,000
S8 S3otx=HMHeAlE D& X2 EXAY 1,821,000 0 1,821,000
= 1,821,000
701 JIEIS HSHEZ 1,821,000 0 1,821,000
= 1,821,000
03 BIIEELEIAHAN=EEES 1,821,000 0 1,821,000
O=8 220Xl AlE DM XA
1,821,000,000& =14l 1,821,000
= 1,821,000
ol AdH S22 XY HU ALY 7,203,000 500,000 6,703,000
= 7,203,000
701 JIEIS HSHEZ 7,203,000 500, 000 6,703,000
= 7,203,000
03 BIIEELEIAHAN=EEES 7,203,000 500, 000 6,703,000
Odle==dH 22l XY HHAE
7,203,000,000& 1A 7,203,000
= 7,203,000
SoH2K A~HABHITE S22t HHIALS 2,497,000 0 2,497,000
= 2,497,000
701 JIEt HSHEZ 2,497,000 0 2,497,000
= 2,497,000
03 BIIEEEIIAHNESEES 2,497,000 0 2,497,000
OZ8oH2K PA-HSA B I X2 St=2H HBIALS
2,497,000,000& 1A 2,497,000
= 2,497,000
BHEAH =T T & AAZA 2,000,000 2,400,000 A 400,000
= 2,000,000
701 JIEIS HSEHES 2,000,000 2,400,000 A 400,000
= 2,000,000
03 ZIILELEIHN=2ANES 2,000,000 2,400,000 A 400,000
OBl B I A AA I A
2,000,000,000& 14 2,000,000
= 2,000,000
AL MMENGIAE SR ANS 800,000 0 800,000
= 800,000
701 JIEIG HEEHEZ2 800,000 0 800,000
= 800,000
03 BIEELEIAHN=2ETES 800,000 0 800,000
OYdd MEfoIE SJALY
800,000,000& * 14! 800,000
= 800,000




